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HMst8 | Fax8 |D&SAE| ofu8 | AMsY A x| e R
22 | FeMy 27
(14/" =) |18/ )| (4/EE) ((14/E )| (Bl4) (P)

HEA 17 17 17 17 68 80

IDF-A | 78 = 1 1 1 1 4.0 100
2e[AeEA 3 1 1 3 280

IDF-B | & =B 36 36 36 36 144 144 175
HM=EC 17 17 17 17 68 78

IDF-C 100
M2, 7| A4 5 1 2 2 10

IDF-D | &%=D 16 16 16 16 64 64 75

IDF-E | E=E 34 34 34 34 136 136 175
MEF 28 28 28 28 12 122

IDF-F 150
HeIB| ALRA | 5 1 2 2 10

&~ A 162 152 154 156 624 624 600

2 Al | (04720%) 194 182 185 562 562 600




HtS 2 AMP. Z2FAH A
-1 MAZ|&=
(ZhH 2147 = SUHE2 Cond 3WE ALSsStH, 2|8 217 = Hond 20WE AFSSioh
(Lh) SUMx| 22m7{9 ziM e HANI|F2 cl2n Zo| M35t
Mzro| = ol A5 712+ (m) Z i HgHE (m/170)
25m 0|3 5 25
25m ~ 45m 6 36
45m ~ 15m 9 81
2-2 HLkAol HZ2
P=3>W,x(1+a)
= : Power Amp2l HA=Zz2F [W]
> Wi : speaker MZielado| (W]
a 72 [%]
2-3 #4119 Speaker & A
- af =at
2 = oA P Speaker= & A al o
3[W] (w]
Zha| AR A 3 3 9
SP-A S2-A 5 15
™2(, 7| AN 5 5 15
SP-B | 52-B 7 21
SZ2-C 5 15
SP-B
et A 8 25 75
2-4 4S5 E AMP S ZFA A
sz 3 H A2 2 ME AMP 22
(W] [%] (W] (w]
75 10 825 250(F= 10 H)
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3-1-2 Booster Amp & &8
Booster Amp. &2 : 70 ~ 80 dB
Booster AMP. £3 : 105 ~ 110 dB
3-1-3 S50l &4(450MHz2)
5C-FB : -0.14 dB/m
7C-FB : -1.17 dB/m
3-1-4 27719 £47|&(dB)

| HOIX|E 2 450MHZzE

T B 182717] 287171 4=717
el -10.5 -115 -115
At -16 -22 -4.0
3-1-5 2uj7]2] &47|&E(dB)
28 Sl 7| 2l 7| =L =Hi 7 =7
SIS -4.0 -6.0 -8.0 -11.0 -14
3-1-6 A& Unite] &47|Z=(dB)
7 = 572+ ST
sl aal -1.8 -20
2 Sk Al -12.0 -16.0

3-1-7 TV=A7| 2] 8 MAZE

60 ~ 70dB



3-2 MALET AM

3-2-1 3 & e Lt
S A= Al cn &Fo Mdxlstn AcHMo Mg
chel &4 ok =
A&H7|7| T4 = VH UH | =% | VH UH Hl 1
(dB) (dB) (dB) (dB)
=271 Set -1.0 -1.5 1 -1.0 -15
i Set 105.0 110.0 1 105.0 110.0
Hols &4 7C-FB m -0.1 -0.2 20 -2.0 -4.4
Aol &4 5C-FB m -0.1 -0.1
&7+ Booster 0|= Set 35.0 40.0 1 35.0 40.0
=717] oeled 1271 M -9.5 -105
27171 dg &4 1271 7H -1.1 -1.6
=7 &4 2D 7H -35 -4.0
=7 &4 3D 74 -6.0 -6.0
=7 &4 4D 7H -7.0 -8.0 1 -7.0 -8.0
=7 &4 6D 7H -10.0 | -110
=7 &4 8D 7H -14.0 -15.0 3 -42.0 -45.0
AERAE &4 74 -1.8 -2.0 1 -1.8 -2.0
TVHZ &4 = -12.0 -16.0 1 -12.0 -16.0
&~ A 741 73.1 > 70dB
3-2-2 =[Fel HESX|5taor wek 2t Hxol TV Unitzhx[ e Ztaf 2k
Cheleh &4 o 2
i = A T4 = VH UH | =% | VH UH Hl 2
(dB) (dB) (dB) (dB)
Aol &4 7C-FB m -0.1 -0.2
Alolg &4 5C-FB m -0.1 -0.1 48 -6.0 -6.2 T v
&2t Booster 0|5 Set 35.0 40.0 1 35.0 40.0
=717 ol & 1271 M -11.5 -105
=771 2 &4 127 7 -1.1 -1.6
=7 &4 2D 74 -3.5 -4.0 1 -35 -4.0
=7 &4 3D 7H -5.5 -6.0
=7 &4 4D 7H -7.5 -8.0 1
=7 &4 6D 74 -10.5 -11.0
=7 &4 8D 7H -14.0 -15.0 3 -42.0 -45.0
AAFRAE &4 M -1.8 -2.0 1 -1.8 -2.0
TVHZ &4 = -12.0 -16.0 1 -12.0 -16.0
2~ A 74.7 76.8 > 70dB
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